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Net lonic Equations

1)

2)

3)

4)

5)

6)

7)

8)

K,PO,(aq.) + AI(NO,),(aq.)

lonic:

Net ionic:

Bel,(aq.) + Cu,80,(aq.)
lonic:

Net ionic:

AgNO,(aq.) + Mgl,(aq.)
lonic:

Net ionic:

HBr(aq.) + Pb(Cl10,),(aq.)
lonic:

Net ionic:

K,(C,0,)(aq.) E CaCl,(aq.)
lonic:

Net ionic:

Na,CO,(aq.) + FeCl,(aq.)
lonic:

Net ionic:

Ni(NO,),(ag.) + NaOH(aq.)
lonic:

Net ionic:

Pb(NO,),(aq.) + H,S0O,(aq.)
lonic:

Net ionic:

Complete and balance the following equations. Show the ionic and net
ionic forms of the equations.
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Net lonic Equations (Answers)

1)

2)

3)

4)

5)

6)

7)

8)

Complete the following equations. Balance them and show their ionic & net ionic forms.

K,PO,(aq.) + AI(NO,),(ag.) —>  AIPO,(s) + 3 KNO,(aq.)
lonic: 3K'(aq.) + PO, (aq) + A™(aq.) + 3O, (aq) — AIPO,(s) + 3K'(aq.) + 3NO, (aq.)
Net ionic: A'(aq) + PO,"(aq) — AIPO,(s)

Bel,(aq.) + Cu,S0,(aq.) — 2 Cul(s) + BeSO,(s)
lonic: B*(aq.) + 2I(aq.) + 2Cu’(aq.) + SO, (aqg) — 2Cul(s) + Be*'(aq.) + ST, (aq.)
Net ionic: Cu'(ag.) + I(ag) — Cul(s)

2 AgNO,(aq.) + Mgl,(aq.) — 2 Agl(s) + Mg(NO,),(aq.)
lonic: 2Ag’(aq.) + 2NO,(aq) + Mg*'(aq) + 21(aq) — 2Agl(s) + Mg”'(aq.) + 2NO, (aq.)
Net ionic: Ag'(aq.) + I(aq) —  Agl(s)

2 HBr(aq.) + Pb(ClO,),(aq.) — PbBr,(s) + 2 HCIO,(s)
lonic: 2H%(aq.) + 2Br(aq.) + Pb™"(aq.) + 2 (C10,)(aq.) — PbBr,(s) + 2H'(aq.) + 2 CIO, (aq.)
Net ionic: Pb'(aq.) + 2Br(ag) — PbBr,(s)

K,(C,0,)(aq.) + CaCl,(aq.) — Ca(C,0,)(s) + 2 KCl(aq.)
lonic:2K'(aq) + C,0,%(aq) + Ca”*(aq.) + 2€1(ag.) — Ca(C,0,)(s) + 2K'(aq.) + 2€i(aq.
Net ionic: Ca™(ag) + C,0,°(aq) — CaC,0,(s)

Na,CO,(aq.) + FeCl,(aq.) —_— FeCO,(s) + 2 NaCl(aq.)
lonic:2Na'(aq) + CO,”(aq) + Fe’'(aq.) + 2€1(aq) — FeCO,(s) + 2Na'(aq) + 2f(aq.)
Net ionic: Fe“'(aq) + CDEE'{aq,) —  FeCO,(s)

Ni(NO,),(ag.) + 2 NaOH(aq.) e Ni(OH),(s) + 2 NaNO,(aq.)
lonic:Ni*"(ag) + 2N@, (ag) + 2 Na*(aq) + 2 OH(ag) — Ni(OH),(s) + 2Na’(aq) + 2 NG, (aq)
Net ionic: Ni“(aq) + 20H(agq) —  Ni(OH),(s)

Pb(NO,),(aq.) + H,S0,(aq) —» PbSO,(s) + 2 HNO,(aq.)

lonic:Pb™(aq.) + 2NJ, (aq) + 2H(aq.) + SO, (aq.) — PbSO,(s) + 2H(aq.) + 2 NO, (aq.)
Net ionic: Pb*'(aq) + $0,%(ag) —  PbSO,(s)




